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OXHEHH A HH| 3,440
A=) 68,800 x5 10 3,440
OXNHABHAEBEMAAL (HXR) Y| 5,709
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= 1,500
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301 LEEN = 5,000 5,000 0
= 2,500
= 2,500
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SHART WEIA ML AL 513,855 128,640 385,215
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= 241,200
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= 80,400
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= 241,200
= 80,400
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= 55,928
S 27,964
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= 12,964
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OLPGat= xt &IXF <10H XI& 4,000,000 1504 60,000
= 30,000
< 15,000
[Ea 15,000
HII0IER 23S At 46,000 75,000 229,000
= 23,000
[Ea 23,000
402 QI2tXt=01 ™ 46,000 75,000 229,000
= 23,000
= 23,000




SH: BHAMD
M NHSBEES
&€ JHEzdEd (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 QI EASEZ (OIS ) 46,000 75,000 229,000
OHEII0IEX ROHRISH 2,300,000& «20CH 46,000
= 23,000
[ia 23,000
HINSA E2 2 SHEUZ 2= 480,000 340,000 140,000
= 240,000
< 120,000
[ia 120,000
402 RIZEXt201 ™ 480,000 340,000 140,000
= 240,000
< 120,000
s 120,000
02 RIZEXt 2 AL EZ (OIS ) 480,000 340,000 140,000
O&IIXtE X ORI 16,000, 000& =30CH 480,000
= 240,000
= 120,000
s 120,000
012l 0l S st AHE LPGAH &K & 50,000 5,000 45,000
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< 54,060




2N
X ZH -
L= B

el

B2 M
R R
MENH 2

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 464,238
OHMM=EES 13,700 11,500 2,200
201 ¢er24] 2,000 2,000 0
01 At 2t 2l 2,000 2,000 0
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201 ¢er24| 17,848 0 17,848
01 At 22l 12,800 0 12,800
OUIIHEL A LEET A =8
500,000& *6H 2~ 3,000
OSZ2AD =ZHZA =2
400,000& 3K & 23| 2,400
OBASIIY FTAAN 4222
400,000& x13] 400
OXNEZEZE MA M= 500,000& =15 500
OstZd2d ADXel HH Uiz
500,000& 2 1,000
OZ2g MIHelE 228 ¢
500,000 » 14! 500
OS8YEI| AIHEHII= HMeltl
50,000& »100& 5,000
02 2324l 5,048 0 5,048
Otd=Z &l 58 &¥Hl =Xl
100, 0002 53 500
OXNEZBEH SHe= 24,0003 +12& 288
O+ ESHMNETZ LEDEZE 2tg| 4,260
—dIIR=a 180,000& =122 2,160
—SHes 50,000& 128 600
— Al &2 =X bl 1,500, 000& 14 1,500
206 = Hl 1,500 0 1,500
01 MHZ 4l 1,500 0 1,500
Otz A EH=EES 2
100,000 =108 A 1,000
OXNEZBHE JI77 ¢ 500,000 » 14! 500
FAaze 6,690,470 6,649, 160 41,310
= 681,035
< 175,610
fia 5,833,825
HJI =22 3,457,939 4,507,311 A 1,049,372
= 506,035
< 175,610
[ia 2,776,294
SZEHHE =H24= 143,000 143,000 0
= 13,000
< 26,000
s 104,000
301 LA F 143,000 143,000 0
= 13,000
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[ia 104,000
1224 = 143,000 143,000 0
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Os=sZHHlY =AHA24 143,000, 000 143,000
= 13,000
< 26,000
s 104,000
S 22 207,500 256,000 248,500
201 L2l 57,500 46,000 11,500
01 At 22l 20,000 16,000 4,000
OsJta 2=3&4 X
250,000 204 & +40 20,000
02 2324l 30,000 30,000 0
O3&st&4a KX E=(PO0L) 30,000,000& 30,000
03 A2 Z Hl 7,500 0 7,500
OdALE OlsAstEd 29E
625,0003 *4J1 A3 7,500
307 gl2tol & 110,000 110,000 0
05 BIZERI & 3 110,000 110,000 0
O==stza 4 e 124
55,000,000& =14 55,000
O==stza 4 e 2284
55,000,000& =14 55,000
401 AIEHI L 20HEI 40,000 100,000 A 60,000
01 A& tl 40,000 100,000 A 60,000
OZFoUH MEH= SSEA Wi
20,000,000& =14 20,000
Oont2d st=el S2=sE4 uH
10,000, 000& »24! 20,000
MEHIIS HAQAS A 1,843,723 3,317,506 A1,473,783
201 Let24d]| 110,000 0 110,000
01 At 2teltl 110,000 0 110,000
O=Z2H FAMY(OIMHI M)
110,000, 0002 14! 110,000
207 RO ] 12,000 32,000 220,000
01 A2 39| 12,000 32,000 220,000
OMEmHIIES =H2E X EIt 224
12,000, 0002 14! 12,000
307 21201 A 1,721,723 3,281,506 A 1,559,783
05 RIZt2IE = 1,721,723 3,281,506 A 1,559,783
OMEHIIZ TS0 (A 12
936,200,000 » 14 936,200
OdEHIIEs =H2E A 224
785,523,000 » 14! 785,523
HoI22 288 29 236,646 157,225 79,421
101 124 dl 16,586 15,445 1,141
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OMEHIIZ2 tisael 16,586
—-Jl2= 68,800& *1H x218 14,999
—ddEBE= 14,999, 000& *3.335% 501
— &I RYEES 501,000& *8.51% 43
— =043 14,999, 000& *4 .5% 675
- 1888 14,999, 000& *1.65% 248
—MUHES 14,999, 000& *0.8% 120
201 et A | 39,660 26,380 13,280
01 AFR 2t 2l Yl 18,960 17,510 1,450
OSdate H& 60,0003 = 1000H 6,000
OHJIZE SgEJ 2108 M
350,000& *30H 10,500
OHJIE SEEI &= S|
8,000 x6H 20 960
OFHAEE ¢ 1,000,000& * 14 1,000
OEHIIZ2 = AEI24 M& 500,000 x 14! 500
02 332494l 20,700 8,870 11,830
QHJIE =YEI 2A2 GaEX KAl
150, 000& *38H & 5,700
OH=s% =HXHcZl 3,000,000& x5& 15,000
206 M =8l 81,400 71,400 10,000
01 & bl 81,400 71,400 10,000
OZEM sEHE 81,400
— 5L 30& 130, 0000H 3,900
— 10L 40& *120,0000H 4,800
— 20L 60& *240, 0000H 14,400
— 50L 130& *160, 0000H 20,800
— 100L 250& *150, 0000H 37,500
207 S O ] 12,000 0 12,000
01 A2 E 49| 12,000 0 12,000
OBAMEHI=2Y9HAE 889
12,000, 0003 *14] 12,000
301 dEtE X = 700 700 0
12 JIEtE2 &2 700 700 0
O ZAZ 700
—HJI2 &7 A0 TN 30,000& x10AH 300
—HJI=2 SgA2 A LAZ
20,000& =10 200
— 1382 /L A0 ZTMNZ 10,000& 102 100
—BIEJEXZ2 0lA2 ADZAZ
10,000& 102 100
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401 Al HIZ 201 Y| 74,000 31,000 43,000
01 A& HI 74,000 31,000 43,000
OMEHIIES SHEI ZAE F&4EX &X
3,000,000 »20CH 60,000
OHse =g 44X 7,000,000 *20H 2 14,000
405 RHoHE S HI 12,300 12,300 0
01 AL EFFHSHI 12,300 12,300 0
o= Zel=Hg 7Y 650,000 =124 7,800
OHEZS(HEX) 2el+=HE 7L
300,000& =154 4,500
HOI22 288 29 70,000 61,000 9,000
= 15,000
< 6,000
[ia 49,000
401 AIEHI L 20 50,000 50,000 0
= 15,000
s 35,000
01 A& Bl 50,000 50,000 0
OSZHEY REXE =25
5,000,000 *100H 2 50,000
= 15,000
s 35,000
405 Xt&tE SHI 20,000 11,000 9,000
< 6,000
[ia 14,000
01 AL EFH S 20,000 11,000 9,000
Os2gld =g P& 500,000& 40K 20,000
< 6,000
i 14,000
A HTIoH 2 HICHZ 1,000 1,000 0
< 200
s 800
301 LEHZ 1,000 1,000 0
< 200
s 800
12 JEE 4= 1,000 1,000 0
OM Il 2 HICH= 1,000, 000& 1,000
< 200
[ia 800
Sd0E Mal & HEAY 956,070 571,580 384,490
= 478,035
< 143,410
[ia 334,625
401 AIEHI L 20 956,070 571,580 384,490
= 478,035
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2 334,625
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OFEHSYOE Helt (1)
3,440,0008 27 = 92,880
= 46,440
[ 13,932
=2 32,508
OZFESHSHOIE M2l X (2Hd)
3,440,000 *27 = 92,880
= 46,440
[ 13,932
2 32,508
OZFESHSYOIE M2l X (3HA)
3,440,0002 26 = 89,440
= 44,720
[ 13,416
=2 31,304
OZFESHSHOIE M2l X (4u)
3,440,000 26 S 89,440
= 44,720
[ 13,416
2 31,304
OFH=YO0IE Ml X (5AA)
3,440,000 26 = 89,440
= 44,720
[ 13,416
2 31,304
OFH=YO0IE Ml X2 (6AA)
3,440,000 26 5 89,440
= 44,720
[~ 13,416
2 31,304
OFHEYO0IE HHI KR (7TAS)
3,440,000 26 5 89,440
=2 44,720
[ 13,416
2 31,304
OFHEYO0IE HHI XS (8AA)
3,440,0008 265 89,440
=2 44,720
[ 13,416
2 31,304
OHI =&Y 0E Helt X
1,720,0008 445 75,680
=2 37,840
[ 11,352
2 26,488
OFEHXE e X (12A)
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FEX S HEH XA (2HYA)
4,270,000& x18= 76,860
= 38,430
< 11,529
= 26,901
MR =SHEH 22 3,232,531 2,141,849 1,090,682
= 175,000
s 3,057,531
HENA=SHYH 22 685,581 373,901 311,680
101 @14 Hl 137,496 105,275 32,221
03 RIAHAZZ T E =+ 54,577 43,508 11,069
OHJISHMeAS(HE ) =g 22l 54,577
—JIEs 59,5003 x 1 3652 21,718
—J|2a=g 34,365,000% /12& *43| 11,455
— A A+E 60,000& x12& 720
—X232Y 13,9403 x1H «10Al 2t 128 1,673
— Al2tel g 13,9403 = 1H «20Al 2t 128 3,346
— 25043 59,5003 «40%+5E x 123 1,428
—wnE2 X 140,000& 12 1,680
— ZHZ A 130,000& =122 1,560
— HESOty| 1,022,000& * 1 »23| 2,044
—lsss4 59,5003 x 110 595
— I =l 500,000& x 18«13 500
PNIE R IEeg =, 500,000& 1 *43| 2,000
—2ALBEZ 55,395,000& *3.335% 1,848
-3V RQYBEZ 1,848,000 *8.51% 158
— IRz EER 55,395,000 *4.5% 2,493
—N888= 55,395,000 *1.65% 915
—dHEE S 55,395,000& *0.8% 444
04 JIZtHZ22XEES 82,919 61,767 21,152
OHJIS(HEess8) &g 82,919
—JlEs 68,8003 x5H 218 74,992
—AdZBE= 74,992,000& *3.335% 2,501
- RABER 2,501,000 *8.51% 213
— J0AHZ 74,992,000 *4.5% 3,375
- 1828z 74,992,000& *1.65% 1,238
—dTHEEZ 74,992,000& *0.8% 600
201 L2 | 311,860 109,718 202, 142
01 At 2t 2l 31,200 31,080 120
O e+l 31,200
—HEANE 28 X M= 10,000& =80 800




SN BEAMD
M Hape
E: MEBTA=dH2e (&)
SA - BB B () - MM - BES Ol &t o San HmEET
“WEANE 228 2579
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—HEAME =Z2ZA =2 23,800
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340,000 x2Z 204 2 +12& 16,320
Nt HALE 170,000& * 110 2 #4 3] 7,480
—2HE 0822 300,000& »23| 600
02 2324l 280,660 78,638 202,022
03222 % HMAl 914
—MHEANE S4Z 72,0003 100 2 +128 864
— &21(0.6m =4tJ]) ZAIE 50,000 *1CH 50
Ozl 12,840
—ZAXN SF4 100,000& =12 1,200
- 3J| RF4I 8,400
0.6m 240] 300,000& »12& 3,600
0.2m = AtD| 200,000& *2CH*12& 4,800
—HIDEY |IFH 250,000& 12 3,000
—W=J |FHl 20,000& +x12& 240
OAE ZHI S X 266,906
—HEAE RUIEBAAE 24
170,000 10 A+ 12& 2,040
— 0zt Xl 50,0003 =4 CH 200
— 3J&&J| KXY 50,000 »2CH 100
—0=Jl SXHl 30,0003 =3CH 90
— & 2D | X 50,0002 = 1CH 50
—&d2J| |l 200,000& »2H 400
—&&+ HANESXL
400,000 x20f 212 9,600
—MecEre | Xl 400,000 * 1A 104 & 400
— =N 44| 7 bl 500,000 * 14!« 1Jf & 500
— A £dl |RXH  500,000&* 14x104 2 500
- =32H SAXbl 100, 0002 = 1CH 100
— 2HAE "Xt 100, 000& =4 CH 400
— I 2 X 8I(0.6w) 200,000 x1CH*12& 2,400
— EJI 2 X4I(0.2w) 200,000& *2CH«128 4,800
—METIA=SHEH 222 AL
100,000 *20H 2~ 200
— MOF = Xl Hl 1,000, 000& 14! 1,000
— XNESAH(EAHX, XAHX,AINZH,EEZE
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— MI=H 10,000& 20 200
— Fela 30,0003 x4& 120
OMENJAcdE =2HAE M8 2 325
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— XM =S & AtHI 50,000& x5H 250
— HHESOtY| 14,439
1548 ~ 164 2,257,800 x2H x120% 5,419
- 2349 ~ 244 2,452,330& * 1% x120% 2,943

_25_




SN BEAMD
B MESAHY (HAAM)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
- 254 ~ 264 2,490, 170& * 1% x120% 2,989
- 288 ~ 294 2,572,830& *1H x120% 3,088
OH I8 AtY| 9,964
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— M= ctAY| 30,079
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85,000,000& 85,000
= 85,000
— 22 ot+22 JHAMG(SE,FE)
296,000,000 296,000
= 296,000
Bt HEEZS (2 SFIEANE 29) 2,676,482 0 2,676,482
= 2,676,482
701 JIEtSI HEHES 2,676,482 0 2,676,482
= 2,676,482
01 JIEtSIHE &3 2,676,482 0 2,676,482
Odt+==S83H HES 2,676,482
— YL BAIENESY
1,748,418,000& 1,748,418
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SH: BHAMD
HE: HRHS(HIIMD)
el WRAAHXS(=Z2HESEA) (Sl & &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-/
= 1,748,418
—JE2LTIHAALEESY 928,064,000 928,064
= 928,064
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= A
N = 0] &F AF S & AN A
2020 = =20l A LB H L JIEIEE S H S#3AMY ~ =sH
EX: S22
HH: 230z M=
e 23tz 243t (2 &HH)
- RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
el e L g 9,956,130 13,952,893 N 3,996,763
= 1,940,082
Jl 456,751
= 736,554
= 6,822,743
2slil= &= 1,610,813 4,927,721 N 3,316,908
J| 114,473
o 11,435
= 1,484,905
Sslil= 43t 1,610,813 4,927,721 N 3,316,908
J| 114,473
o= 11,435
= 1,484,905
B22s8 21 212,499 190,927 21,572
201 et | 22,132 19,360 2,772
02 232 4| 22,132 19,360 2,772
O230sAE FAE2A 1,321,000 x12& 15,852
OUeHIOIEe HEEHEES L 2oAHIAIAE 0]
22 340,000 x12& 4,080
OdelHIoIe EIIEAIZ 200,000 *13] 200
OAl&E ZHlI KXY 2,000,000 *13] 2,000
307 2Iz2t0| A 190,367 168, 167 22,200
02 QIZHAAAIRE E X 117,370 97,050 20,320
OE2232 A &=t 23,050
- HIGEE ASs0S0E
1,500,000 x 14! 1,500
— WO <A OF2HAI 0| 2,400,000 =14l 2,400
— SF2AIE WA 1,500, 000& * 14! 1,500
— St EE 2523 2,000,000 =14l 2,000
~NEUHE BN L BH A H53
5,650,000 =14l 5,650
— 1 AME Fd2 M= HAIF
4,000,000& * 1Al 4,000
— NI H S AE AL 2,000,000& *33] 6,000
OB2:23d 23ty 29 (324 &)
94,320,000 = 14! 94,320
03 QIZIHEHAESIHIEX 72,997 71,117 1,880
OE223a AIR=2Z 20 40,625
—olgel 2,056,0008 x1H x12& 24,672
— &2 2,056,000 1 x4 3| 8,224
— &= 32,896,000& x1/12 2,742
— AN2HA =& 8,300 *30A| 2tx12& 2,988
—2A2dEE 32,896,000& x3.335% 1,098
— A RUEE 1,098,000 *8.51% 94
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2N S22
dH: 20s s
¢4 2d=s 2483 (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
—MHEE 32,896,000 *0.8% 264
- 18828 32,896,000 *1.65% 543
OB2E25a 2tAF 23 27,372
— o2 1,336,4003 x 15 »12& 16,037
— &3 1,336,400 x 1 *43| 5,346
— &332 21,383,000& *1/12 1,782
— A2t =& 5,400& *30Al 2tx12& 1,944
— =03 21,383,000& *4.5% 963
—2A2AEE 21,383,000& *3.335% 714
— A RAEE 714,000 *8.51% 61
—MES 21,383,000& *0.8% 172
- 188 21,383,000& *1.65% 353
OB223d 2494l 5,000,000& * 14 5,000
0= sE XA 179,700 137,300 42,400
201 L2 Y| 20,000 1,400 18,600
01 At 22l Yl 20,000 1,400 18,600
O230l=s =24l 20,000, 0003 *14] 20,000
203 YR =&H| 6,000 6,000 0
03 A HF=X SR =XH| 6,000 6,000 0
O230ls 22243 =& 6,000,000 *14] 6,000
307 QI2t0| ™ 153,700 123,900 29,800
02 DI2HEMAIEE X 153,700 123,900 29,800
O2stdl=<H X& 153,700
— 22083 &HEJIZIE 4,000,000 *13] 4,000
— M3 A 5,500,000& x13] 5,500
— a0 EFE0Y 10,000,000& *13] 10,000
— A 2 5,000,000& x13] 5,000
— 2202 L)= 2258
2,500,000& 13| 2,500
—-EB2384E23 2I XA
49,100,000 * 14 49,100
— =93 2L 5,000,000& x 14 5,000
— QI 28t oF2tdl 0l 2,500,000& x13] 2,500
— AN € A= 5,000,000& x13] 5,000
— AMLEEHS 29X 5,000,000& *13] 5,000
—ANUEs EIFIA 4,800,000& *13] 4,800
—0l=2 HEXAY 5,300,000& x13] 5,300
—Y9OEAE dAESs N
3,000,000& x13] 3,000
—NMSOEEE3 & 15,000,000& *13] 15,000
—8222 S g2t 12,000,000& *13] 12,000
— A g2t 20,000, 0003 *14] 20,000

_30_




<

n0

Kio

Hl w

A2,670
A 6,450
1,000

1,350

A 8,800

4,380
4,380

50,500
50,500
40,500

H3r
Wikd
RIS

41,000
41,000
41,000

81,780

30,600

1,800

28,800

50,580

50,580

88,000
88,000

29,500

Off &t 24

41,000
41,000

41,000

6,000
2,000

8,000
10,000
7,000
8,000

24,150
1,000
1,000
3,150
3,150

20,000

20,000

79,110

54,960

54,960
23,400

8,400
4,800

1,200
9,000
21,600

4,500

360
5,100
4,200

900

138,500
138,500
70,000
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Ki
iy
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<0
hid
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[uind
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3,000,000
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Ki
iy
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<0
0
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H

10,000

58,500

70,000
68,500
60,000

8,500

2
2
2

1
1
1
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2l *
2l %

60,000,000
8,500,000
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2AMd: 2322
M 2oos ds
& 2oz 245t (&)
SA - ZE-B(EN) - NRAY - B S il &t o il RS2
s L E=A 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DI2ZHHALALSE E X 5,000 5,000 0
Osg 2F23HA 5,000,000& x13] 5,000
ESUS0==A 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 QIZFHALALH 2 = 15,000 15,000 0
Os=2sd==A 15,000, 000& 12/ 15,000
o S0 &AL 12,000 12,000 0
307 glz2+ol & 12,000 12,000 0
04 QIZFHALAIH B = 12,000 12,000 0
OodH S0l & A} 12,000, 000& =13/ 12,000
= AE0HE A 5,300 5,300 0
307 21201 A 5,300 5,300 0
04 QIZFHALAIR B = 5,300 5,300 0
O=<sore 5,300,000& x13] 5,300
ZJEUHES UEHA 15,000 15,000 0
307 gl2tol & 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
OHEUEE DI A 15,000, 000& 13| 15,000
ANE S elZs dHel 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0
OAE S8 el2s AHel 10,000, 000& 12/ 10,000
2 Za=H 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 QIZFHALAIH B = 30,000 30,000 0
02020 2 2= 30,000,000& =13l 30,000
Z0E & SESAE 30,000 20,000 10,000
307 21201 A 30,000 20,000 10,000
04 DIZHHALALSE E X 30,000 20,000 10,000
Oozgs fg sus2sl 30,000,000& =13l 30,000
rsdEd 54 2,100 1,100 1,000
201 £B-2d| 2,100 1,100 1,000
01 At 22l 1,000 1,100 A 100
Og==AHYI 2L A= 500,000 »23| 1,000
03 & Ar2 I 1,100 0 1,100
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EX: S22
HH: 230z M=
e 23tz 243t (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OKRsSgYX n=ssd 1,100
— 2AASE 300,000 x2H 600
— 8 =0H) 100,000 = 1K 100
— & =0H(A) 50,000& =2 K 100
— W QlAfH| 10,000 x308 300
SEEgAsHEIE2H 154,890 138,320 16,570
J| 109,363
& 9,105
= 36,422
307 2iz2tol A 154,890 138,320 16,570
J| 109,363
< 9,105
= 36,422
02 QIZIA AAIE B X 154,890 138,320 16,570
Osg 230l AIY 154,890,000 14! 154,890
J| 109,363
= 9,105
= 36,422
oLJI2 &Moles ZHAIY 285 7,160 6,500 660
& 1,430
= 5,730
308 XX SHHSOIH 7,160 6,500 660
= 1,430
iy 5,730
08 I 20HstE = 7,160 6,500 660
OO0 2 SMdls A 2=
7,160,000 104 & 7,160
= 1,430
= 5,730
S230=32 29 L 2 119,960 119,960 0
201 et 119,960 119,960 0
01 AP 2t 2] H| 10,550 10,550 0
OJIE2agd AtfR2&2ldl| 500,000 =1 500
OFAEE & A2E 2 1,000, 000& 14! 1,000
O&Il A=H| 250,000 *53] 1,250
OAagtor™ 22| CHedd| 270,000 x12& 3,240
O&I|etA 2te| ety 380,000& x12& 4,560
02 E=22%H4| 85,410 85,410 0
OH&EIIR2 4,500,000 x12& 54,000
Odsle= 40,000& «12& 480
Qa2 300,000 x12& 3,600
OANESEINALAEEL 2 300,000 1 300
ORI AHHAIAE 0222 400,000 ~12& 4,800
Ogst & 22 g3l 120,000 13| 120
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2N S22
dH: 20s s
¢4 2d=s 2483 (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
Od=Hl 830& *5,0004 4,150
OA & &Hl S XY 7,560,000& x 1 7,560
OB EALXNASE 3,000& *100kg 300
OJIAH,&D|, A8 2SI 1,500,000& x 14 1,500
O3 & otd 22|yl 2,000,000& x 14! 2,000
O35 AM&EZ2 HIIZ A 3,300,000%23] 6,600
03 At L 24,000 24,000 0
OZ0g st R=HSAA 2,000,000&*123] 24,000
QEEIEA 29 Y &g 63,804 62,488 1,316
101 @121l 22,931 21,615 1,316
04 JI2ZtH 22 XNHEE 22,931 21,615 1,316
OL&eIsrar 22| 16,586
— o2 68,8003 *1H x218 14,999
— 2043 14,999, 000& *4 .5% 675
—=002AH2 14,999, 000& *3.335% 501
— &I YEE 501,000& *8.51% 43
—AMEE 14,999, 000& *0.8% 120
- 11888 14,999, 000& *1.65% 248
OL&EzzZsta Hx=&g o= 6,345
— ol 68,800& *3H x30 6,192
—MHEE 6,192,000& *0.8% 50
- 18828 6,192,000& *1.65% 103
201 Bt A H| 17,673 17,673 0
01 At 22l Yl 5,120 5,120 0
OFAEE L 228 ¢ 500, 000& 14! 500
Od24I| A=H| 10,000& x12& 120
OxNgegss =38 bl 500,000& = 14! 500
OHFE 2ET AN 7 1,000,000& * 14 1,000
Oz E2=2 M& 3,000,000 14 3,000
02 =294l 12,553 12,553 0
OL&EZsta SHOIX SX 24l
220,000& x12& 2,640
O=z&& g3l 200,000& *13] 200
odIIe=2 350,000& x12& 4,200
OatEe2 30,000& x12& 360
ORoAHAIAE 018222 110,000& = 12& 1,320
OQHY AtEZ 35,000& x12& 420
Od2HI(ER) 830& *1,1004 913
OAlI& &Yl K X Hl| 2,500,000& 1 2,500
206 M= Hl 4,000 4,000 0
01 X2t 4,000 4,000 0
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n0

Kio

Hl w

A 4,500
A2,750
A2,750

A 1,750
A 1,750

14

H3r
Wikd
RIS

19,200
19,200

4,260
4,260
1,820

2,440

7,500
3,750
3,750

3,750
3,750

7,286

Off &t 24

3,000

1,000
19,200
19,200

19,200
4,260
4,260
1,820

500
1,320
2,440

240
1,000
1,200
3,000

900
2,100
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700
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e
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EX: S22
HH: 230z M=
& 2oz 245t (cho &)
5 - 4
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
307 2Iz2to| & 15,000 0 15,000
04 SIZ2ISHAAIH E & 15,000 0 15,000
OHM4s B2 =2 224H3AUS
15,000,000 = 1Al 15,000
=2 23 AlE FEUF 15,000 15,000 0
307 212t0| & 15,000 15,000 0
04 SIZ2ISHAAISHE E X 15,000 15,000 0
OB d=2 AIZ3EU3 15,000,000 «13] 15,000
Ml &kdl X & 16,000 16,000 0]
307 2iz2to| & 16,000 16,000 0
02 QIZ2HA AAIE E X 16,000 16,000 0
OHMEHl X (9MA) 16,000,000 » 1Al 16,000
=2l A Al & = A 419,630 0 419,630
201 et Y| 630 0 630
01 AP 22| d| 630 0 630
OZ22 A= 70,000& *9H 630
207 &I & 12,000 0 12,000
01 24| 12,000 0 12,000
OFHEI 249 12,000,000 * 1Al 12,000
301 et A =2 2,500 0 2,500
12 JIEtE2 &= 2,500 0 2,500
ootolti 22 Al&Z2 2,500,000 1Al 2,500
307 QI2t0| & 404,500 0 404,500
04 CIZ2tSHALALS B X 404,500 0 404,500
Ol ASHE =R 404,500,000 *13] 404,500
ZStAld S22l 9,600 0 9,600
201 et d| 9,600 0 9,600
02 2% H| 9,600 0 9,600
O2023% dJlg & 222
800,000& x12& 9,600
SR BEEH 4,414,019 4,658,359 A 244 340
= 1,940,082
J| 240,000
= 671,641
= 1,562,296
S L TEAE B=22 4,414,019 4,658,359 A 244 340
= 1,940,082
J| 240,000
o= 671,641
= 1,562,296
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2N
X ZH -
L= B

el

St
TR dsEH
23 X dSAME BEE2L

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
SFEQETISTAIZ 29 L 22 30,986 20,780 10,206
101 @121l 24,651 15,445 9,206
04 J|I2ZtH2E2XNEE S 24,651 15,445 9,206
OSEUSINSHAI 2 Q14| 24,651
ol 68,8003 1% x324 22,292
— =043 22,292,000& *4 .5% 1,004
A R =" 22,292 ,000& *3.335% 744
— &I YLEE 744 ,000& *8.51% 64
—MHEE 22,292 ,000& *0.8% 179
- 18828 22,292,000 *x1.65% 368
201 Bt A H| 6,335 5,335 1,000
01 AP 22l Yl 500 500 0
OFHAZEE L 222 2 500, 000& = 14! 500
02 33249l 5,835 4,835 1,000
ORoFHAIAE 0|18222 110,000& = 12& 1,320
OAl& & Hl s XYl 3,000,000& x 14 3,000
OH ZHl 1,515
— 423 881& *82| Ef *31L! 3l & 656
-4z 8812 *152| E{x65 859
=3 X2 661,669 253,059 408,610
101 @1 21| 45,629 32,719 12,910
04 JI2ZtH2Z2XNEE S 45,629 32,719 12,910
OXNHE23 M el (3 17,764
— o2 68,800 *3H x84 17,338
—NMHES 17,338, 000& *0.8% 139
- 1888 17,338,000 *1.65% 287
O23tM L SESA 22/ (0 =x) 11,279
— o2 68,8003 x5 x8 x4 3| 11,008
—MHEE 11,008, 000& *0.8% 89
- 1888 11,008, 000& *1.65% 182
Oat A AS 2te| ol o1 A H| 16,586
— o2 68,8003 *1H x218 14,999
— =203 14,999, 000& *4.5% 675
—A2AEE 14,999, 000& *3.335% 501
— &I YEE 501,000& *8.51% 43
—AMEE 14,999, 000& *0.8% 120
-182¥ 14,999, 000& *1.65% 248
201 et A | 51,040 50,340 700
01 AFR2t2l bl 17,000 16,300 700

_37_




[l

<

n0
KIo
El
E=]
LH3r 2
uikd) S
RS &
o
o o
o o o
- [ o o
[aV] o o o o
< S & < & 8 ¢
= ~ S § §$3
— ~ M g o
I3 § 8 & § ¢
- S & § €
A & 8 =
— © < o
H_l.JH _ A.y M AO.. o
= X * o — - -
wr e ¥ g % I - -
Mo o o = * * <
R S [ = XX - o
2] oKk S S o [l o0 of _ X N o
a2 8 8 %% 3% g A
Y [28 "R ¥8 g g¢8 22 @ ¢ =g oy
i s o = S g S S o X * SV ol il —
= |= 8 S 8 =9 3 s ® ¥ o= - Y i <
= ~ 0 S ) S o o on od * b o 4 o
I |@ xS 3 = 8 g 88 o % = o o
= oo S m2S mg g8 msg T @ g ¢ ¢ ® oW
= | k. Rmoum_m m,o,ouo, 8 s M o T B
=~ |2 = =7 R 1m5m00@mmﬁ%_%_ﬂmm%
Z |z = oo b ¢ mao,o,mmo WMy T
I 0 ] ol I} no I+ o > S > o of & *
e K by of s 92 < > 8 W3 = ® ®
=R ot o il = <0 — olu_ Ki «@ o o 9 . S S o
oF = 0} = - _ o ~ o o 0 & o Mo = S
ok ok = R0 K0 B a ROK o} od - SRS -
Y| = o _ o Kl 0 il N ™ o
= i 2 < o' 9 ) ~ = 0
. = <y %0 20 I b < - i 0! N rlo
= |9 = B S e woom R a R U w2
» 0H o - 1 < ol K0 | e K0 0 F _ =
k0 |O 80 Kk = = ol o W R
: O 0p W T - wooZog = 9 <
Ed |Aro = @l < . = 7l
= i T < 20 A B = Kl = W
Mo o By 5 U " ol = oy
2 2 3 2 & W 5 4 5
o O Jai} -
O M: i ol 0] B = m_|
> B o WU i
ooz o RO
O HI i
O H
O

- 38 -




fAH: S2st22 1
Hu: 2R HSRH
Sel: 25 X RSME 2EDL CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OB zZZY ME2HH SMe3
10,000& =128 120
OM3el ALIR CCTV MEQHY AIER2
120,000& =128 1,440
OMZel 2L CCTV &8JIe3 10,0008 128 120
OSAMHIOIESE S dJles=s
350,000& x12& 4,200
O2M & AAELZ AIE2 SAESHI(E
0l2=) 5,300,000 » 14 5,300
307 glz2+ol & 8,000 0 8,000
02 HAFHAANFEE 8,000 0 8,000
OSEA 72 XNEAE 8,000,000& =14 8,000
401 AIEHIZL 20HEI 557,000 170,000 387,000
01 A& Hl 557,000 170,000 387,000
O=23M L SFERL 2] AHY 100,000
—MEds o AR e
50,000,000 =14l 50,000
— 23 ¥ FERL FH
50,000,000 =14l 50,000
Osd-Mh €21 ZHIZ2A 80,000,000 »14) 80,000
OafE ity AA 22 HHISA
20,000,000& =14 20,000
O BES At DAA ZHISAM
150,000,000 * 14! 150,000
OHMHZASRIIZS I8 2
35,000,000& =14l 35,000
OXZEZaM NEEH DAl Hl
22,000,000& » 14! 22,000
Ooaygstd 282 AN 20,000,000& =14 20,000
ONE BLIA 50,000,000& =14l 50,000
OE2 ZSA A4 = HHISA
60,000,000 =14l 60,000
Oofel nEz e &
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1,000

Mo

76,300

22,890
53,410

95,

540

A 19,240

EUNY

76,300

22,890
53,410

95,

540

A 19,240

A&

109,000, 000& =141 %70/ 100

SV

76,300

76,300

22,890
53,410

95,

540

A 19,240

o

0y

H
>
o

EUR

110,000

33,000
77,000

,000

A 6,000
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2N s3I
HE: 59 B L
Sel: DET AZHRES MM U WBPSY S4 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O&Ed =4S XIF 450,000 =100CH *25/100 11,250
O=sg&E ZHI XA
500,000 *200CH *25/ 100 25,000
= Et&E THHHRIA 656,200 979,200 A 323,000
= 524,960
< 39,372
e 91,868
301 LEPEXZF 656,200 979,200 A 323,000
= 524,960
< 39,372
e 91,868
12 JIEE4 3 656,200 979,200 A 323,000
O= Et&= X & 3,400,000& x193ha 656,200
= 524,960
< 39,372
s 91,868
s&g Mol =74I(XHH) 50,000 0 50,000
302 OI=2L Mol 24 = 50,000 0 50,000
02 QI THOHE =R ESEL S 50,000 0 50,000
O=s%2 Mol s34l 50,000,000 =14l 50,000
2l S2+MEE(EN3S) X 10,500 0 10,500
< 3,150
s 7,350
307 glz2tol & 10,500 0 10,500
< 3,150
s 7,350
02 It M AMHE L 10,500 0 10,500
OJsutl s=MaEx(8Md3S) N
21,000, 000& » 141 x50/100 10,500
< 3,150
e 7,350
QMR ASIsL=E XA 68,353 0 68,353
= 34,176
< 10,253
s 23,924
307 120l & 68,353 0 68,353
= 34,176
< 10,253
s 23,924
02 IZtA M AHE X 68,353 0 68,353
OgNs MaAsME X
85,440,000& 141 x80.001/100 68,353
= 34,176
< 10,253
s 23,924
gFESA BEHY KNIAM 4,500 0 4,500




2H: =2
s &

HE: 59 B L
Sel: DET AZHRES MM U WBPSY S4 CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 1,350
s 3,150
307 glz2tol & 4,500 0 4,500
< 1,350
s 3,150
02 It M AHE X 4,500 0 4,500
O&gd gadle X
9,000, 000& *141%50/100 4,500
< 1,350
e 3,150
Nesats B3s & =5 S4 8,567,594 6,284,179 2,283,415
= 51,270
J| 2,245,837
< 1,319,816
fia 4,950,671
DEE =44 X3 A 94,500 209,875 A 115,375
307 glz2tol & 94,500 209,875 A 115,375
02 It M AHE L 94,500 209,875 A 115,375
OLNSTE W==MAXA 94,500
— =X 90,000& *2, 1008 A x50/ 100 94,500
ANass4E 828 243 602,350 602,350 0
201 Let24d] 602,350 602,350 0
01 At 22l 602,350 602,350 0
OFNch EE2E(EHIE, M MT) M =
1,175,000 28 2,350
OsS4g V2D 2 29281
20,000,000 308 600,000
s&E =5 |4 100,500 490,000 A389,500
< 30,150
[ia 70,350
402 RI2EXt20l ™ 100,500 490,000 A 389,500
< 30,150
[ia 70,350
02 RIZE X2 AL EZ (01X ) 100,500 490,000 A389,500
OsdE =sHXNSH MY 100,500,000 141 100,500
< 30,150
e 70,350
OIAITHEN XI& At 353,761 303, 168 50,593
402 2I2H X201 M 353,761 303, 168 50,593
01 2I2E 2 A B (RERITH ) 353,761 303, 168 50,593
O QI A& THHH X & 353,761
—QMNES
1,370& *9,00074 *37 . 34ha*50/ 100 230,202
— OIA XX 61,700 x60Z *37.34ha*50/100 69,117
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2H: =2

HE: 59 B L
S9: NYsA2 YES L 2EHX S4 (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
— QlAFXI2 Y 48,600& *60E *37.34ha*50/100 54,442
U220 22 dolls M 30,000 20,000 10,000
307 glz2+ol & 30,000 20,000 10,000
02 QIZtE M AHE X 30,000 20,000 10,000
Otz 2138as LHMIA
10,000& 10 *600ha*50/ 100 30,000
E28 4283 MFE, 2L 23,500 23,500 0
201 24l 23,500 23,500 0
01 At 2t 2l 23,500 23,500 0
094 =SME 228 AR M
1,500& =6, 0000H 9,000
O=S4E 2HZoH AT M
1,500& =3, 0000H 4,500
OEEE8 sSUE 7Y BE 4,000&+2,500= 10,000
ANessE2 AISAY =28 7,000 5,000 2,000
307 glz2+ol & 7,000 5,000 2,000
04 QIZFHALAIH E = 7,000 5,000 2,000
OZxE2 stt= A X&
3,500,000& 23] 7,000
YE=sa=2 TVELE OHAHE At 17,000 17,000 0
< 5,100
e 11,900
307 izl & 17,000 17,000 0
= 5,100
s 11,900
02 It HAHEE 17,000 17,000 0
OUSsetEs TVEaLYE OHAHE ALY
17,000,000& *13l 17,000
< 5,100
e 11,900
NSE 0144 X3 160,000 160,000 0
307 glz2+ol & 108,000 108,000 0
02 It M AHE X 108,000 108,000 0
ONEZE 20144 XA 108,000
— 22018 dEHIE K&
1,200,000 *30ha*23] 50/ 100 36,000
— 20/ = 0lges X
1,200,000 *30ha*43] 50/ 100 72,000
402 RIZ2FXt20l ™ 52,000 52,000 0
01 DIt Xt 2 AL E = (REATH &) 52,000 52,000 0
OUEE 0144 XA 52,000
— 0l K= XA 6,000,000& *10ha*50/100 30,000
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2H: =2

Hu: =9 M L
@ XNEssz2 833 & =20 |4
= _ — d =
SA - BB B () - MM - BES Ol &t o e
— 22018 =s¥&8 FHE &
2,500, 000& *12ha*50/100 15,000
— 2208 s=4=2RI| X
1,400,000% *10CH x50/ 100 7,000
detd 5 FuUMAE X3 60,000 60,000
< 18,000
s 42,000
402 QI2H X201 M 60,000 60,000
< 18,000
s 42,000
02 QI E2AE EZ (OIS ) 60,000 60,000
ONEY AES ANMLAL 23
120,000, 000& * 141 x50/ 100 60,000
< 18,000
s 42,000
NEE Ot=da XA 270,465 270,465
307 21201 A 160,740 160,740
02 It S AIHE L 160,740 160,740
ONZZE Dt=da X&AY 160,740
—t=s&sdl=s K&
1,200, 0002 *90ha*50/100 54,000
—HAE & HE X
1,700,000% *90ha*50/100 76,500
—0Ots TISHMHYE, 22x) X2
720,000:& *84ha*50/100 30,240
402 RI2EA=20| A 109,725 109,725
01 22t 2 A B (KA ) 109,725 109,725
ONEZE Disda X3 A 109,725
—IEF UsdMIIBtZ8XA(ATE 2N,
E2E) 3,000,000 *43ha*50/100 64,500
— 1S OtsTHHE 43 X
3,350,000 *27CH x50/ 100 45,225
=S AOLAHYE ZRMAZ N2 60,000 60,000
307 glz2+ol & 60,000 60,000
02 YAFHAANGFEX 60,000 60,000
O=SAI0AHE 2SS XA
750,000:& *80ha*23] *50/ 100 60,000
=L 23828 ZH 2dEs 29 19,000 19,000
< 5,700
i 13,300
201 LBH2E | 19,000 19,000
< 5,700
s 13,300
01 At 22l 19,000 19,000

_94_




2N s8I
HE: 59 B L
S9: NYsA2 YES L 2EHX S4 CERED
5 - 4
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Os3s=s: Z3E2Y98 3¥H BHeEs 29
19,000,000 » 1Al 19,000
& 5,700
= 13,300
U 8 22 MAMEH X 95,000 80,000 15,000
== 28,500
= 66,500
402 BI2H X201 M 95,000 80,000 15,000
& 28,500
= 66,500
02 QIZEXIEAISE X (0| XM THL) 95,000 80,000 15,000
Ol =8 FE2F MAXMH X
190,000,000 14! %50/ 100 95,000
= 28,500
= 66,500
e SESMNNH X 150,000 155,500 A5,500
= 45,000
= 105,000
307 S12t0| & 150,000 155,500 A5,500
= 45,000
= 105,000
02 DIZIEAAIRE E X 150,000 155,500 A5,500
OMA AT XA
129,000,000 14! «50/100 64,500
== 19,350
= 45,150
(OLIINE=E= 171,000,000 14! «50/100 85,500
& 25,650
o 59,850
WMl E 8sHlE AAE 288,713 288,713 0]
307 2izto| A 288,713 288,713 0
02 QIZIA AAIE E X 288,713 288,713 0
Olzx=ME RIIEH S K&
8,500 x550ha*75% *50/100 175,313
Onal BSE&EA HE XHE
8,400 *450ha*60% *50/100 113,400
NEE SOMA XA 3,600 3,600 0
307 2iz2to| A 3,600 3,600 0
02 QIZHA AAIE E X 3,600 3,600 0
OZItME 8sgdHla A&
900,000 *8ha*50/100 3,600
XEA QAMANESAMH 22 36,050 30,300 5,750
= 10,815
= 25,235
307 2Iz2t0| & 36,050 30,300 5,750
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2N s3I
HE: 59 B L
S9: NYsA2 YES L 2EHX S4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 10,815
s 25,235
02 IZtE M AHEE 36,050 30,300 5,750
O&etd AYXNEHSIM 53
72,100,000& * 141 x50/100 36,050
< 10,815
i 25,235
2 ASEAS It K& 8,000 8,000 0
= 2,400
s 5,600
307 glz2+ol & 8,000 8,000 0
< 2,400
s 5,600
04 QIZFHALALH E = 8,000 8,000 0
O=UW ASHEAIS &I XIF 2,000,000 *43] 8,000
< 2,400
s 5,600
s&2 T ME XJAY 577,971 638,586 260,615
307 21201 A 577,971 638,586 260,615
02 QB LA EX 577,971 638,586 260,615
Oola ZTZIH M X2
1,500 *3,50001 *50/ 100 2,625
OZX ZZ M XI&
1,500 *45,0000H *50/ 100 33,750
OZFYUH=: Z& MEXA
1,600& *15,0000H *50/ 100 12,000
O=2x=+ ZIM MEXA
300& =40, 0000H *50/ 100 6,000
O20 ZZH M X&
1,500& *70,0000H *50/ 100 52,500
O1nxF ZZM MEX&
1,500 *14,0000H *50/ 100 10,500
OY=&E0tE ZEM HMEXA
1,500 *14,0000H *50/ 100 10,500
OoF2 ZZ MZEXI&
1,500 *2,00001 *50/ 100 1,500
Obts ZZ MZEX&
1,500& *10,0000H *50/ 100 7,500
OAtDF ZZIH M2 XI&
1,500 253, 5680 *50/ 100 190,176
Of Z&EM HMAEX& 1,500& *8,56001+50/100 6,420
Oze Z&HM MEX&
1,500 *40,0000H x50/ 100 30,000
OZE ZHM HMEX&
1,500 *66,0000H x50/ 100 49,500
O==0t ZZ MEXA
1,500 %80, 0000H x50/ 100 60,000
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2H: =2

HE: 59 B L
S9: NYsA2 YES L 2EHX S4 (S &2)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O Z&EM M=X&
2,000% *30,00001 *50/100 30,000
ODnF0F Z&TH M=X&
1,500 *58,0000H x50/ 100 43,500
OotZ2LIor Z&T H=X&
1,500 %10, 0000H x50/ 100 7,500
Oos=32dlel Z&M MEXA
1,500 %10, 0000H x50/ 100 7,500
OZJl =& HMEXHA
1,500 %10, 0000H x50/ 100 7,500
OXNsE ZZE M=K
1,500 %10, 0000H x50/ 100 7,500
on =& M= XA
300& 10, 0000H x50/ 100 1,500
=20 522 sg€8d NIEAMY 439,520 18,110 421,410
301 getEd 3 15,000 0 15,000
12 JIEtE& = 15,000 0 15,000
Osdts &F= AAMH X
200,000 *300& *25/100 15,000
307 21201 A 199,520 0 199,520
02 It S AHE L 199,520 0 199,520
ORHEZO0F =22 sEHEAAMY 199,520
—nYe=EX XA 90,000& *2,60001 x25/100 58,500
— & BIAIEE XI&
160, 000& *2,300Z *25/100 92,000
— Ot wolwetH
60,0002 * 1201 x100ha*23| 25/ 100 36,000
—t=sEWH 23,0003 *1,20001 *20/100 5,520
—2ZEC MY ZEM HMEXH
1,000,000& *20& *25/100 5,000
—ZZECHMNEY 243 WA
10,000, 0002 14l x25/100 2,500
402 RI2FX=201 M 225,000 18,110 206,890
01 2I2FH 2 A B (KR ) 225,000 18,110 206,890
o1 1S3&=s 54
900,000,000& 14l x25/100 225,000
SHE Mo 2HH5 ALY 40,185 23,793 16,392
307 21201 A 40,185 23,793 16,392
02 IS AHEE L 40,185 23,793 16,392
OZHx Ma 2435 XA 40,185
—NEBUHE(AZNMEHE, 4E=8HIT)
1,020, 0002 *60ha*50/100 30,600
—gox 88 4E& 94,500& *60ha*50/100 2,835
—gox & ANA
225,000& *60ha*50/100 6,750
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= _ — d =
SN B C(EH) - NRAY - BES %Eﬁ o
Ol ah MALAIL S St 46,482 7,500 38,982
J| 18,593
& 8,367
a 19,522
402 RI2HX=01 M 46,482 7,500 38,982
J| 18,593
< 8,367
= 19,522
02 U2 THEALEZ(0IETHE) 46,482 ,500 38,982
Ol MEAIE SUSALY
92,964 ,000& =141 +50/100 46,482
J| 18,593
=) 8,367
= 19,522
DE=HIOtE THHHAIE RI& 52,500 ,600 12,900
J| 21,000
s 31,500
402 RI2FXt=01 M 52,500 ,600 12,900
J| 21,000
i 31,500
02 P2 XE2AILEZ(0IETHR) 52,500 ,600 12,900
ODFHIOLE THHHAIE K&
22,000 *4,772.7m x50/ 100 52,500
J| 21,000
s 31,500
2oE=sE s N2 11,000 ,250 2,750
< 3,300
s 7,700
402 2I2tXt2 01 & 11,000 ,250 2,750
< 3,300
s 7,700
02 P2 XHE2AILEZ(0IETHR) 11,000 ,250 2,750
OHNA=E sHYU XN
550,000 *40CH x50/ 100 11,000
< 3,300
s 7,700
SAE ==dHA It XA 30,000 ,000 0
202 44l 12,000 ,000 0
03 =220l 12,000 ,000 0
Os4aE =&AL ZItA O]
4,000,000 » 12 %33 12,000
301 LA F 18,000 ,000 0
06 212tQ1 = 2| 0 Hi 18,000 ,000 0
Os4aE =&AL FItA O]
1,000,000 *6H x33] 18,000
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2H: =2

HE: 59 B L
S9: NYsA2 YES L 2EHX S4 (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ANETHE st X E X 3AS 15,750 15,750 0
307 gl2tol & 15,750 15,750 0
02 It M AHE L 15,750 15,750 0
OAM&ETHEE st 2HH =2 K&
5,000, 000& *6.3ha*50/100 15,750
QO] MAH 22 JIXNM E2 7,294 0 7,294
< 2,188
s 5,106
307 21201 A 7,294 0 7,294
< 2,188
s 5,106
02 It S AHE L 7,294 0 7,294
OX2C dMaH 22 JIXNM 2
10,500, 000 =141 +69.46/100 7,294
< 2,188
[ia 5,106
Jlsd 2FLy Jlgt =4 87,800 33,732 54,068
< 26,340
[ia 61,460
402 RI2EXt20l 87,800 33,732 54,068
< 26,340
[ia 61,460
02 2IZt 2 AL EZ (OIS ) 87,800 33,732 54,068
OJlsd PFae JIBEY
175,600,000& =141 x50/ 100 87,800
< 26,340
s 61,460
TE3 ANLEJ0A2S ELEIMNEXE 1,050 1,500 A 450
< 315
[ia 735
307 21201 A 1,050 1,500 A 450
< 315
s 735
02 UAFAAFEE 1,050 1,500 A 450
OFatd NERAE ELSI N
3,500, 000& x141%30/100 1,050
< 315
[ia 735
NEE =4 X3AAE 112,800 112,800 0
307 21201 A 100,200 100,200 0
02 QIAHFAAHEX 100,200 100,200 0
OH=THHHE dEHlE X&
2,505,000 *80ha*50/100 100,200
402 RIZEX20l A 12,600 12,600 0
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SN SED
X ZH: =
L= B
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=
el NSsas 38 & +==¢C

]
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s
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0

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
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Ol
0y

o
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O &
S
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il
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o
o ol

m
o

|
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[
O
ogr
e

AL E (TR )

=
Rl
0z
=z
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1,800,000& =4CH x50/ 100
3,000,000% *2ha*50/100
6,000,000 *22*50/100

02

12,600
12,600
3,600
3,000
6,000

12,600

B
oin
]
ot
E

nx
[S]

MW

25,300
12,650
3,795
8,855

24,400

900

307

012H0| &

!

MW

25,300
12,650
3,795
8,855

24,400

900

25,300,000 * 14!

HH A

25,300

25,300

12,650
3,795
8,855

24,400

900

GAP ©F

HH A

68,000
34,000
10,200
23,800

112,000

A 44,000

201

e
1
H0
02
=

HH A

35,000
17,500

5,250
12,250

3,120

31,880

Ar2 22l Bl
OGAP o+d

35,000,000& =14l

Mo A

35,000

35,000
17,500

5,250
12,250

3,120

31,880

202

(G1:]

Mo

1,000
500
150
350

3,600

A 2,600

=UW0ibl
OGAP o+H

& ol
0,000& »2H »252

HH A

1,000

1,000
500
150
350

3,600

2,600

301

e

rc
HT
>
oy

HH A

32,000
16,000

4,800
11,200

105,280

AT73,280
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2N
X ZH -
L= B

el

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
12 JIEtE2 A= 32,000 105, 280 NT73,280
OGAP I==D ot A 2ZHAHHl K&
32,000,000 = 14! 32,000
= 16,000
& 4,800
= 11,200
SAMSAMINRESHEH HE =X 17,500 0 17,500
202 o4 | 17,500 0 17,500
03 2220 17,500 0 17,500
OsdENITREHH A8 =X W
3,500,000& x5 13| 17,500
NEsssS 2N 465 =& 39,329 41,027 AN 1,698
101 e1214| 33,169 30,827 2,342
04 J|12ZtHIZ22NEES 33,169 30,827 2,342
OS2 Z2ZZC HEXNH TR 33,169
i als 68,8003 2 x218L 29,997
— =203 29,997,000 x4 . 5% 1,350
—2AAEE 29,997,000& *3.335% 1,001
— A RAEE 1,001,000 *8.51% 86
— 18288 29,997,000 *1.65% 495
—AMEE 29,997,000 0. 8% 240
201 gBt24Ay| 6,160 2,000 4,160
01 AP 22| H| 1,960 2,000 AN40
OE2x 22ZC #HEXNH 29 1,960
—HEEHH 22 SFAE 1,000, 000& = 14! 1,000
—HEAH FM4ZZ2 O AX}
80,000 1201 & 960
02 3244l 4,200 0 4,200
OBE2x2 2Z2ZC dHE2XNH MIIR2
350,000 *12J00 & 4,200
SHE Bijeie sIHAH 16,800 5,600 11,200
o=} 5,040
= 11,760
402 SI2tXHE0| ™ 16,800 5,600 11,200
= 5,040
= 11,760
02 QI2ZtXIE A E X (0| X THSH) 16,800 5,600 11,200
OsdE 2N E sIIHAE
2,800,000 =124 50/ 100 16,800
o 5,040
= 11,760
sSHE FEYHEANH e-AEHS SFH X 13,300 12,600 700
= 3,800
= 9,500
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